Oooooo1nnoooooobooooooon
20080 20 13000
ooooooobooog

oooo obO | 0000 |(Doob0obooobOobooooboboooboonon

(1) z= + OO000zz, +yzy,=| OOOOOOOOOOOOOO O
rTry

(2) z=sin(z —y), r=v’>+0* y=2uw 00002, -2 0w v000000000

w—%2y=| O00000000O000000000

3) 00 f(z,y)=23+y3—92y+270 (z,y)=| OOO00OOOOO |0OOO

oon goooooooo oood

(4) 0P(1,)D0000 2% -3y +222y =000000000000000y =z 00000

¢(1)=| 000000 [P¢’(1)=| 000000 D

(5) 00 =2y 00 (1,1,1) 000000000000 ooooooboooooono

(6) D={(z,y) |z >0, y>0, x+y§1}DDDD//(1fxfy)dxdy: oooooo
D

(7)D:{(x,y)|%§y§2,1§m§2}DDDD//Dye“’ydacdy: ooooooooo o

(8) 00 Q={(z,9,2) | 0<2<ay, 2 +y* <1, 2>0,y>0} 0000

oboooooooo oooog

(9) 0000 Zi'x”DDDDDD 000000 (0000
n.

n=1

0 n+1
(10) log(1 + ) :Z "(z] <1)000O000log(24++?) 0000000 (0000)00OO0

ooooo oooono 000D2*0000 ooooo ooood

goooboooobooboooobooooboobooooobooooobooboobooonoag




